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1.(10%):% & & F 78 X h &34T

int x=0;

cout << x++ << "M
X +=-1;

cout << ++x <<";":

cout << x+1 <<"";

2. (10%) T 542 3 h B HAT 4 test 24 B ?

int test=0;
do{
test +=2;
} while(test <1);

3. (10%)°F 7142 X h B 34T

THREEZER -

%% count Z {8 B 4T ?

int count=0;
for (int i=-1; i<=7; i++) {
++i;

k4

count++;}

4. (10%)F 5| X h EBATHR & A BT ?

int wW,x,y,z;
y=3;z=19;
W=Y;X=Z;
while(w!=x){
while(w>x) w=w-x;
while(w<x) x=x-w;}
cout << w << endl;
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for (int num=1; num<12; num++) {
if ( num % 3 !=0) continue;
cout << num; }
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7.(15%)3% A recursive #7552 X ETHE R fIn] £+ n AEEH B fIn]=fIn-1]+n-2] > ™
fl0]=0 » f[1]=1

8.(20%) 3% 3% 3t — R A recursive G a9 X, » B X THEH fIn]» £ n AEE$E fIn]=
f[n-1]+f[n-2] » @ f]0]=0 - f[1]=1 -



http:t~1i\:.ti\:.JI

